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praminations  and  Assessment Authority, = 2007; online version 2011
hapy/www.hk§az§edu-hk/DOClera'ry/HKl')SE/Subject_]nformation/hist/H]ST-QuWords-E.pdt) in
order 10 familiarise .themselves.wnh various command words and other commonly used wt;rds that
appear in HKDSE History questions.

It is also impon.ant that candidates choose relevant historical information to substantiate their
arguments. Some scripts were marred by irrelevancies resulting from the indiscriminate use of
historical information. Writing down ‘model answers’ prepared in advance should be avoided.

Last but not least, candidates should pay special attention to logic, coherence and clarity of
pmemation. They should organise answers and use facts appropriately in their answers, and make
clear arguments. Language and presentation skills are also areas in need of improvement.

Question Choice Pattern
BB Question Number Popularity
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Performance was fair. This question required capdidates to explain whether the
of Source C would have agreed to Japan's hosting the Olympic Games, as men:itt,?:;
in Source D. While many candidates managed to answer .the question ag requir
weak candidates misread the Source and made ungrounded inferences such g « Tap
did pot need any reputation’, ‘small nations should not host an Olympic Games’, eman

(c) Performance was fair. This question required candida}es to explain how importan the
domestic factor was in bringing about Japan’ economic miracle in the period 1945.89
The best answers used the two sources and the candidate’s own knowledge to give:
relevant and substantiated discussions about factors that led to Japan’s economic
miracke in the period. Weak answers discussed only the domestic factors, or fajleq o

clearly differentiate between domestic and foreign factors.

Q3 (a) Performance was good. This question required candidates to identify the cartoonist's
view towards the USA. Many candidates managed to identify the US’s double standarg
as reflected in the cartoon. The weak candidates misinterpreted the Source - some

thought that the cartoonist supported the USA in fighting the USSR; others thought
that the cartoon described the US military force as being weaker than the USSR.

(b) Performance was fair. This question required candidates to explain how the USAs
participation in foreign wars affected its budget. Many candidates managed to make
use of the Source o explain how the two periods represented by the Korean War and
Viemam War affected the US budget. The weak answers copied indiscriminately from

the Source without making any valid inference.
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paper2 (Essay-type questions)

Ql

Q2

performance was satisfactory. This question required candidates to dis

which Hong Kong underwent transformation in the period 1967-97, wi;\uisef:l::n::t::ttl::
socio-economic and political developments in that period. Most candidates were able to
discuss the transformation in Hong Kong in these two areas, substantiated by relevant
historical evidence. However, some ignored the key words ‘to what extent’ and therefore
failed to discuss the historical continuity of Hong Kong in the period. The most able
candidates covered both continuity and transformation and reached valid conclusions. Some
weak candidates treated the question as one asking for the year 1967 as a turning point, and
gave unneccssarily lengthy discussion about Hong Kong's historical developments before

1967.

Performance was fair. This question required candidates to discuss whether both the late
Qing Govemment (1901-12) and the Nanjing Nationalist Government (1928-37) aimed to
promote economic more than political development, Most candidates attempted to compare
the two reforms, but not many focused on their ‘aims’. The weak answers displayed one or
more of the following flaws: mistaking ‘aim’ as ‘historical background’; forming their
arguments based on counting the number of reforms listed In the answer instead of
conducting a holistic and qualitative discussion of the two reforms; producing unbalanced
discussions, mostly disproportionately on  the Nanjing Government and/or political
developments. Only the best answers contained balanced and well-substantiated discussion

of the two reforms, producing valid comparisons of their aims.
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Performance was fair. This question required candidates to discuss whether Nazj

was more important than the appeasement policy in causing the Second World :3%%,'
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best answers gave valid comparisons, The weak answers displayed one or m

following flaws: inaccurate understanding of the appeasement policy such as bla:;rj::{t the
(

® one by

giving the Japanese a free hand in invading China and mistaking the USA as th

the policy; producing separate accounts of the two factors with very rough compar

short paragraph at the end. The weakest answers discussed factors other than the ‘“’0';:::;“ ]
in
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Performance was satisfactory. The question required candidates to discuss the extent 1, wh

the end of the Cold War was due to Mikhail Gorbachev’s liberalisation policy. Gener. ich
speaking, candidates were well prepared for this question, and many produced re| evall)f
historical evidence about Gorbachev’s liberalisation policy and other factors that Jog . ™
end of the Cold War. The more able candidates clearly explained the relative importance

Gorbachev’s liberalisation policy and other factors leading to the end of the Colg wof
However, some did not pay heed to the key phrase ‘liberalisation policy’ and included a.

more of Gorbachev’s other policies, which were irrelevant to the question. The we,
candidates merely gave a brief account of developments during the Cold War, withoy any

discussion about its end.
Performance was fair. The question required candidates to elaborate on the statemen
‘national interest may lead to war; it may also lead to mutual cooperation’ with two

examples, one for each scenario. A good answer should have addressed how ‘nationg|
interest’ led 1o the two results stated in the question. Weak answers displayed one or more of
the following flaws: misunderstanding the concept of national interest; giving both examples
on war or mutual cooperation; and producing separate accounts of the two events without
closely relating them to ‘national interest’. Only the best answers explained how national

interest led to war and mutual co-operation in a balanced manner.





